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.     Double Spinners A    .
If we spin both spinners…
Possible outcomes are…

Key Concept: Have a system to make a list of outcomes




Experiment (Practical)





Theory



If we spin the spinner a few times…. 




    What should happen?

	Outcome
	

	
	
	

	Tally
	
	
	
	

	Total
	
	
	
	

	Probability
	
	
	
	


P(      ) = 

P(      ) = 

P(      ) = 

P(      ) = 

.     Double Spinners B    .
If we spin both spinners and ADD the numbers

Possible outcomes are…

	
	1
	2

	3
	
	

	5
	
	


The theory? 

What are the probabilities of each possible result?



If we spin both spinners and ADD the numbers


Possible outcomes are…

	
	3
	4

	5
	
	

	6
	
	


The theory? 

What are the probabilities of each possible result?

.     Double Spinners C    .
If we spin both spinners and ADD the numbers


Possible outcomes are…

	
	1
	2
	3

	1
	
	
	

	2
	
	
	

	3
	
	
	


The theory? 

What are the probabilities of each possible result?


If we spin both spinners and ADD the numbers

Possible outcomes are…

	
	0
	1
	2

	1
	
	
	

	2
	
	
	

	3
	
	
	


The theory? 

What are the probabilities of each possible result?

.     Double Spinners D    .
If we spin both spinners and ADD the numbers

Possible outcomes are…

	
	1
	2
	3
	4

	1
	
	
	
	

	2
	
	
	
	

	3
	
	
	
	

	4
	
	
	
	


The theory? 

What are the probabilities of each possible result?


If we spin both spinners and ADD the numbers

Possible outcomes are…

	
	1
	2
	3
	4

	1
	
	
	
	

	2
	
	
	
	

	3
	
	
	
	

	4
	
	
	
	


The theory? 

What are the probabilities of each possible result?


What is the chance of getting…

‘A’ = 

‘B’ = 



‘A’ = 

‘B’ = 


‘A’ = 

‘B’ = 

‘C’ = 

‘D’ = 











‘C’ =


What is the chance of getting…

‘A’ = 

‘B’ = 



‘A’ = 

‘B’ = 


‘A’ = 

‘B’ = 

‘C’ = 

‘D’ = 











‘C’ =

Largest dice number theory


List the largest result for each vertex of the dice (8 total)

Find the probability of ...

1) P(largest of 2)=             2) P(largest of 3)=               3) P(not a largest of 6)=
4) P(largest of  more than 4)=


I roll a regular 10 sided die.

8) P(6)=                                      9) P(2 or 10)=

10) P(4 or 5 or 7)=                  11) P(multiple of 3)=

12) P(an odd)=                         13) P(14)=

14) P(not a 7)=                         15) P(A factor of 10)=
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